RERE-AIVITRERRISOLVTHRER -FX)

WEttEET S L
65
100Bg keZ B A HH DO
BREHER

No 5 PN B DIERE o L-134 o L-137 SEfE

Bag. kg Ba. kg Ba ke
1 A= R7.4.28 b BRHE9(<6.9) BRHE9(<55) BRHEEY
2 XEF R7.4.28 =5 BRHEE3(<4.6) BREE9(<4.2) BRHEET
3 SEIRTHET R7.4.24 PEME NG BRHET(<3.9) BRHET(<28) BREed
4 SRR THT R7.4.24 Fa) (%) BREE9(<4.9) BRHEE9(<4.0) -
5 EAlIES] R7.4.24 FTARINGHR BRHEE9(<3.8) BRHEEI(<41) BREET
6 SEEEE R7.4.24 T AINSHR (EER) BREE9(<4.8) BRHEE9(<4.5) -

BaBEE B T2 —BREBEROEEE 9L 100Bg/kg(t> 9 L-134, £ HL-13TOEEIE)




